N E B E80301

“» FIFRRIE T\ AT\ 73 %

HAR B SN APT 3R L2 DN RN fE o

(Dz2T3 28 14> +2ab+b”> =(a+b)’
a’*—2ab+b*=(a—>b)?
[Eo1): At afETalast s (Da’+2a+1 (2) x*—10x +25
2 (1) a*+2a+1
=a’ +2-a-1+1°
= (a+1)?

(2) x> —10x +25
= x*—2.x-5+5°
= (x—5)°

[Eo1): At a T sl et s (Da’+6a+9 (2)4x*—20x +25
2 (1) a*+6a+9
=a’+2-a-3+3°
= (a+3)?

(2)  4x*—20x+25
= (2x)>—2-(2x)-5+5°7
= (2x—5)?

[#61]: Bt AT s e 5 0 (D 4x’—12xp +9y°  (2)4x*—20x +25
20D 4x*—12xy +9y°
= (2x)"—2-2x -3y +@3y)°?
= (2x—3y)°

(2)  (x+2y)?+6(x+2y)(y —x)+9(x—y)?
= (x+2y)° =2 - (x4+2y) - 3(x—y)+[3(x—y)]’
= [(x+2y)—3(x—y)]’
= (—2x+5y)” &8 2x—5Hy)°’




N

E80301

(2)% > £ 25
€270 R Far
2ot (D)

(2)

ta’—b*=(a+b)(a—>b)

ﬁ’éf’"ffl [ %4500 (1) 4x*—9 (2) x*— !
4x*—

(2xY-— 3°

2x—3)2x+3)

xt—yt

(x*)? =(¥*)?

= (= y)(x*+y?)

€270 R Far
2ot (D)

(2)

€30) B RS

(1) x?

2 () x

(2) 9—

(3) x?

(x—y)(x+y)(x*+*)

T A e s (Dx*—16 (2)4x*—25y
x*—16

xP— 47

(x—4)(x+4)

4x*—25y

(2x)* —=(5y)°

2x—5y)(2x+5y)

R

—(x+2y)? (2) 9—(a+2)? (3) x*—y*+2yz—2°

P (x 2y =[x+ (x+2y)][x —(x+2y)]
=2x+2y)(x—x—2y)
=2(x+y)(=2y)
=—4y(x+y)

(a+2)"=3>—(a+2)*

=[3+(a+2)][ 3—(a+2)]
=B+a+2)3—a—2)
=(a+5)(—a)

— 2y — 2 =x"—(y*—2yz + 2°)
=x*—(y—2z)°
=[x+(y—2)][x—(y—2z)]
=(x+y—z)(x—y+z)




NE B

E80301

@)z 3ferz23 428 1’ +b’=(a+b)(a’ —ab+b*)
a’*—b*=(a—b)(a’>+ab+b?)
(o) At aETaes (D=1 (2)a’+8b° (3)x°—1

fz
(1 x—1 2) a’ +85b°
= x—1° =a+Q2b)°
= (x—D(x*+x+1?) =(a+2b)[a*—a-2b+(2b)7]

=(a+2b)(a*—2ab+4b*)

(3) x*—1=(x*)*—1"
=(xX+D(x*—1)
=(x+D(x*—x+D(x—D(x*+x+1)

[F o] M m = ol 0 (DX 427 (2) - —8a' (3) x' '

jz
(1) 8x*+27
= (2x)*+3°
= (2x+3)[(2x)*—2x x 3+37]
= (2x+3)4x"—6x+9)

U N
2) 2—7_Sa —(3) 2a)
~L ool &+l v2ara
3 37 3
_l 1,2 2
—(3 2a) (9+3a—|—4a)

(3) xé_yéz(x3)2_(y3)2
=(xX>+y)Hx* =)
=(x+y)(xX*—xp+y)H)(x—y)(*+xy+y>)




NE B

E80301

[ 61]: FIs A fa™ 5 & 50 (DH8x*+27 (2) 2—17—8 a’ (3) x*—yf

jz
(1) 8x*+27
= (2x)*+3°
= (2x+3)[(2x)*—2x x 3+37]
= (2x+3)4x*—6x+9)

1

@ -8 =) -Qa)
_ 1 1, 1 2
—(3 2a) (3) +— x2a+Qa)’]
(1 1.2 2
—(3 2a) (9+3a—|—4a)

(3) xé_yéz(x3>2_(y3>2
=(xX>+y)Hx* =)

=(x+y)(xX*—xp+y)(x—y)(*+xy+y>)




(o4 1 (22> £ 25%)

3 FAA A e A

(1) x*—381
f#

(2) 36—25x>

[oj3= ] (41 = £ 2% @)

fdh T r A N

(1) 198% —98*>
fi%

(2) 40.8 x 39.2

Loy - J(E3 L 234)

FIN AR T A S SN

(1) 16x*—49 (2) 4q* —9b>
f#

[y = Y (A% T2 £ 28 f@)
R T E N PE

(1)9—997>  (2) 59§x60§

E80301



~E B E80301

[oy52= ] (41 T2 £ 287500 137) Loy = (A0 T2 £ 2587500 47)
Fl3 e T 55 AR EALEE B2 Il

(1) 9x*—1 (1) x¥*=3x*—4x+12

(2) Bx—5)—(x+1)*? (2) x(x+z)—y(y—2z)
(3)2(x* =y )—(x—y) (3) x*(y—z)+y*(z—x)

fiE fiE

[oldge 1 (1" 225 28 mRam) [y e 1(fI* 2232 28780 13)

FlF A fET A 55 FlF A fET A 55
(1) 2xp*—y —x’y (1) x*—xy—2x+y+1
(2) a*>—b*>+2bc—c’ (2) 4xy*+2xy —x>— )y’
i i



N E B E80301

QRS [y 1]
AfExt—y +2yz— 7 Afzat—2a°b* +b*
fi# - (e

[5]42 ]

22a>+b>+c? —12a—8h—10c+59=0> £ 2a+3b+4c 5 %> 2
(e

[ry =]

% a’+b?+c*=2sab+bctac=1> fatbtc2 &

(e

QD GV SERNAE =)

*a—b=4>ab=—-3> F:
(1) a*>+b*22% (2)a+bz & (3)a*+b*2iE (4)a*—b*21i -

X



e E80301
[f:ﬁﬂgi = ] <<‘¥IJ3+ :}Q,z{ AT 1\f_§';>>

*a—b=8>ab=20> F:

(D a’+b>2E  (2)a+tbzi®  (Da*+bt2iE (4)a*—b*2i-

i

[Copag~ ] (0% iz 258 RE )
(1) 12° +8° (2)7°-5°
fi# -

ESRD KEIEE ST )
(1) 7% +3° (2) 6° —14°
ja



